MATHS BEE

A. CHOOSE THE CORRECT OPTION (a, b, c, d)

1) The number name for 7019 is
a) Seven thousand one tens 9ones
b) Seven thousand nine
c) Seven thousand nineteen
d) Seven thousand 19
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2) The expanded form for 1704 is
a) 100+700+00+4
b) 100+700+0+4
c) 1000+70+00+4
d) 1000+700+00+4

3) Complete the pattern : 145, 255, 365
a) 475, 585, 695
b) 475, 575, 675
c) 465, 565, 665
d) 456, 556, 656

4) Arrange the following numbers in ascending order
9171 , 2179 , 9217 , 2279 , 9227
a) 9227 , 9217 , 9171 , 2279 , 2179
b) 2179 , 2279 , 9227 , 9217 , 9171
c) 2179 , 2279 , 9217 , 9227, 9171
d) 2179 , 2279, 9171 , 9217 , 9227
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5) 6 thousand more than 2945 is
a) 8945
b) 9846
c) 9864
d) 8949

6)50nes less than smallest 4 digit number is
a) 925
b) 999
c) 995
d) 1005

7) tens make 2500
a) 20
b) 40
c) 25
d) 250
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8)2222 +222 +22+2 =
a) 2222
b) 2648
c) 2000 + 200 + 20 + 2
d) 2468

9)John has 4 sons and each of them has a sister. How
many children does Jon have?
a)8
b) 7
c)6
d)5

10) In a village there are 4236 women. The number of
men is more than that of women by 125. What is
the total population of the village?

a) 4361
b) 8597
c) 4631
d) 8957
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11) The predecessor of the largest of 4 digit number
is
a) 9999
b) 1991
c) 999
d) 1000

B. SOLVE THE FOLLOWING PUZZLE

6 14

+
+ | X

+
0o |+

<

= |16
X=X
+ =

13

uaLIVEWORKSHEETS



